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TEET(KF)a—K {TEET (K=F)4E 60k 61i% 625% 63k% 645 65k% 66i% 675 68k 69i%

1250 TEEHET 2 4 2 0 1 1 1 1 3 2
1260 B R 3E 1 1 0 0 1 1 1 2 0 2
1270 FEEHT 2 3 3 2 1 0 1 2 2 1
1280 FRA4HET 4 2 2 0 1 1 1 1 2 2
1290 SRHET 3 0 2 0 4 2 5 2 3 5
1300 & ZEHT 1 2 1 1 2 3 0 1 1 1
1310 K JLHET 1 2 3 2 3 2 3 1 3 1
9999 K HMR X ET 100 108 113 96 108 116 93 101 94 127
1510 A& _LHT 11 8 12 5 10 10 12 6 14 9
1520 HEAD T HT 7 8 9 12 15 10 10 11 11 11
1530 #EHISTHT 6 1 5 5 5 5 7 8 4 3
1540 K{EFHT 14 7 4 10 8 7 11 5 6 8
9999 HEHIHR X &t 38 24 30 32 38 32 40 30 35 31
2010 EERHET 2 0 2 4 2 3 0 1 6 2
2020 % E 7T 1 2 5 4 2 6 3 7 1 4
2030 B ET 0 0 0 0 0 1 1 4 0 1
2040 LIET—TH 3 2 3 1 3 2 2 2 0 1
2050 ;BT =T H 1 0 1 4 1 1 2 2 4 4
2060 Hg i ET 0 1 2 0 0 1 2 1 2 2
2070 FxET—TH 4 2 2 7 2 6 4 5 5 2
2080 FRETZTH 2 1 5 5 1 4 0 3 5 1
2090 T HET 21 18 29 20 21 28 20 29 26 27
2100 dribHT 7 2 3 3 3 1 1 0 8 7
2110 tEHIETET—T B 5 5 4 2 2 5 2 1 3 7
2120 HEHIFRET—T B 5 4 3 2 1 8 7 3 7 4
9999 £ ERXET 51 37 59 52 38 66 44 58 67 62
2510 FAUEHET 26 25 32 21 30 38 32 18 19 30
2520 K EEHT 18 18 16 18 24 25 22 23 21 12
2530 = /INRHET 7 6 8 7 8 6 3 5 5 7
2540 FFiGHET 4 5 9 7 6 5 5 7 6 6
2550 HHET 3 3 1 5 3 5 2 5 7 4
2560 = EHT 10 8 6 14 8 17 11 15 10 17
2570 K EHT 0 0 0 0 1 0 3 0 0 1
9999 WS X ET 68 65 72 72 80 96 78 73 68 77
3010 K#THT 11 13 11 14 12 13 8 12 14 7
3020 L ;IHT 10 14 11 12 15 13 13 12 14 11
3030 L E7HT 11 9 11 8 13 10 10 13 8 16
3040 S LHET 3 1 1 1 2 2 2 1 4 2
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3060 HES THT 6 7 6 9 9 9 7 2 5 10
3070 HER/EAT 7 3 4 2 8 6 6 12 7 6
3080 HHMHT 7 6 5 7 4 5 3 2 4 5
3090 HHERHT 5 3 9 7 7 3 5 5 2 5
3100 EH I FEHET 6 6 6 4 4 7 5 9 7 10
3110 HeALET 8 10 3 12 9 10 4 4 10 4
9999 /\FIEF X &t 106 98 93 112 113 110 90 109 100 108
3510 &R _LHT 8 4 2 2 7 4 2 1 2 3
3520 2[R chfT 4 4 6 5 6 3 4 6 4 10
3530 2[R THT 19 19 24 11 6 15 11 21 19 14
3540 ZE R AKHT 2 6 7 8 5 6 3 6 3 7
3550 AEFHT 6 12 10 15 10 13 18 12 20 12
3560 1= FERHT 1 2 4 5 4 5 4 5 10 8
3570 & T FafT 10 4 12 9 6 11 15 10 11 14



XH247TEFREARBIREZD—FHREIZKYNBEAZEDH=-AO
[R6.4.30IR £ )ITEXET 4 (K=F) Al & s Al A O (&)

TEET (KF) 23— {TEET (KF) %
3580 F(LIFHT
3590 jEHT
9999 FHKXET
4010 EU11NET
4020 {5 HT
4030 1SHET
4040 S HEAET
4050 7K EHT
4060 BEZ % HHET
4070 Jb/RHET
4080 =;T;HMT
4090 Ff ek BT
4100 wgFFNET
4110 dtEF0ET
9999 ERIBXEt
4510 AREE—ZHT
4520 BREE _FEHET
4530 EREE=ZHT
4540 EREEUEEHET
4550 EREE R FHET
4560 BREE/FEHET
4570 EREE-EFEHET
4580 BREE/\FEHET
4590 EREE N FEHT
4600 EREE+ZEHET
4610 EREE+—ZHET
4620 BREE+ —ZFHET
9999 EREERIX 5T
5010 R FN B HEET
5020 RZF0EREAET
5030 FRFN[E{ZHT
9999 MAFNRXET
5510 & R HET
5520 = HhET
5530 8= HT
5540 T EEHT
5550 FHET
9999 =ik X &t
6010 & ET/NER
6020 [ZET
6030 FEET &I
6040 iz FHET
6050 JI|EHATER
6060 JI| EATFE
9999 FEERXET
6510 B & A#HGAET
6520 HE A KILHET
6530 HE= A FTHHET
6540 HEALLTHET
6550 H &R AT 2 NET
6560 HZ=ALEILHET
6570 B = AEFHT
6580 HZAEHET

607%
8
0

(&)
o0}

—_
w
OGN WO - W= N—-"-0—= === 0N—=DNONDM—=W

w
o

—_
— WO O =0 = =5

N
o

N = WOMNOPMONMO—-ODMNOWDO

617%
1
0

w ol
AP ODNOO -~ - WWUDMNWODOLOO—~WMbhwooaph~ooNDN

N
©

O~ I 4O —-0 — h

2

S

N - O —=-DNWN-—- 000 -0 —-Ww

627

w
NNOOBAEANNJOW—WWOOo

— A =2 NODMNMMNMNNMNOOO = —

3

N

O N ONONWONMNONDNNDN—L WD, ONDNOODPDWOOWOWNS

637

N BEABNNPANOOOOGOOOORA—=—O

- A
)

WN—=- OO - N—-DNWNJ

w
~

NPDPDOW—A 2 O, 0W0OOWPMNONOPMMOON == DNONMNMDO

647%
4
0

w - W S
NO = PhhW—- =0~ = W= = 0WNYNW—-=0+,~dwoO — o0

—_
— WO WWO s~ - DK

N
(=]

—_
— 42 OO0 0O P~ =" DBNNIENDNDDN

657%

- N
W= 0 - WOW—=DBEDBDMN-DAEIJWONWD®ENWO OO

w
O OO WOoaN—-=-DNO

N
(=]

NNNWNOORMOODMNMDMNPAMO ==

667
10
0

N N [=>]
— 2 00O A~ = = NO -~ 0O —-NWOOWPWONDIPPW—-WOWNOO WW-

N
N

—_
OO0 O0O - = N—- =0 whLhp~hwhNhoO

675%

N S
OO WON—-=-WN-—-NODMOODODULIOOOOOO DAL WP —=-N—-OOO0WO-V

—_
— =S ONWWNO—=

N
w

—_
= N = =2 W= dNWOWDNWNMMOO

687

-
N
WO WWWOOW—- = Ww—-PhhoogwhPp—-0000w—w-do o

3

O N4 00 © 1 0wl O 0

N
©

— W WONMNW—LORAANWO —= =N

697%
10
0
78
4

DT WW—=Wowowaou o

- A
(=)

w
O W WO PRAOWOUNS-NPODNOOWN—=NOWNDNOSD

—_—

—_—

N
o

A OWONOODOPRAI—=LJAONPDW=DN



XH247TEFREARBIREZD—FHREIZKYNBEAZEDH=-AO
[R6.4.30IR £ )ITEXET 4 (K=F) Al & s Al A O (&)

TEET(KF)a—K {TEET (K=F)4E 60k 61i% 625% 63k% 645 65k% 66i% 675 68k 69i%

6590 H&E AKHET 0 0 0
6600 B & A HHT 0 4 2
6610 A& A LFHHET 1 0 0
6620 HZE A FGHET 0 1 1
6630 HE A T FGHET 2 4 2
6640 HER A EithHET 0 1 1
6650 B &= ASHET 0 0 0
6660 HZ A AHET 0 0 0
9999 HEAKRXET 1 1 1 1 1 23 28 1 41
7010 Z &M O BT 2
7020 — RAHT 4
7030 — R FR#NET 1
7040 — R T KEFHET 9
7050 — R ¥y H I HET 4
9999 — R Xt 1 1 1 1 1 1 1 1 20

8011 RAHETFEERLY
8012 IR AHTFEERAS
8013 RAHETFAER L
8021 I AHTZRKLY
8022 IR AHTEKA
8023 R AHTIFEK I
8031 IRAHTH ALY
8032 IRAHTHAA
8033 IRAHTH AL
8041 IR AHETELIRLY
8042 Y AHTELIFA
8043 R AHT LR
8044 Yy AHTELIFIZ
8045 R AHTHLIF (T
8050 IR AHTIRA
8060 IR AHTFT A
8070 RAHTEER
8080 IR AHT &k
8090 I AHT HiEE
8100 JAHETH /X
8110 SRASET 1|5
8120 IR AHTES
8130 IR AHTH L
8140 IJAETEFET
8150 IRAHTEFX L

O© OO O - - 000~ 000000~ 0000000 O0OOMNOOVWWN-—-=DNJTO—=—-WwWOoOOoOoo
O - - NOO0OO0O—- == 24 24 000~ 00 —~00O0O =P =" DNDNMNNWBWNWOOOONO—~OOW
O = N 0000 O0ONMNWODODODODO 00O P~PODOO~~DNOUUDWPAR - JOPMPODOONO = ——
O = = ON—-DNOO - - - O0OMNOO -~ 000 WOO—-~0OMNMNWODMNMNWOPMP—-V©OOOO—~—~0—0
ON - 0O 00 = =N~ —_LONO—-O0O0ONOOO—-DMNMNMNMNDN—-"-—-DIONMWODO—-N—-—-0—
N —=-N—- 00— 0 -~ N0~ 00—~ 00 PO O—WwWUuOOOOOWNOWNDN
W= W= NOOO - = DN—-DNO—~- === DMNOOO0O—=- === WWoOWwMNOWODCO -~ 00O = —
- RO~ 000 - WN—-0D0DO0ONOOWOO -~ = DMNMNMNUAO—-~AP 00 W0OOOO0OO0 -0 —~woOo

Wwooo - - 0 -~ - 00MNMNMNOOO - -0~ 00~ 000 OP~POCWLPNDNN—-=-IIM

—_ —_ -
O 42 O 24 2 ONOOO -~ WNW—- 00O O0ODO0OO0OWOoODOoODOoO —~0 —

9999 AKX ET 17 1 2 24 26 28 1 24
9010 FTHTAKZEH 13 8 13 13 8
9020 FTHTEFEM 7 5 1 8 3 6 4 3
9030 FTHT#H &£ H 14 16 12 19 17 13 18 20 21
9040 FTHETHEIH 21 17 16 17 23 22 20 18 14 21
9999 FTHRXET 51 51 34 52 51 54 55 47 46 55
9110 $RET T HIE 10 7 6 6 4 5 5 11 7 6
9120 $RETH L 4 4 3 1 2 1 2 2 7 6
9130 FFETH B 2 3 5 2 0 6 1 3 3 3
9140 $RET T4t 3 7 9 7 6 7 8 6 7 7
9150 $RHET L§5 4 5 9 8 4 5 7 9 9 9
9160 ZRETEEFT 9 12 4 11 10 13 7 14 8 12
9170 FERTINE 13 12 15 15 19 12 13 14 13 13
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9180 $EHTEE 3 10 8 4 5 12 10 12 6 10
9190 £ERTZ 0 1 0 1 4 1 5 3 4 7 4
9200 $EHETEFIF 2 6 4 6 2 3 6 2 5 2
9210 SEET=E H 5 3 2 11 6 5 5 3 4 9
9220 FEETHH 8 7 7 8 4 5 6 8 10 7
9230 SEHET B M 10 9 10 13 16 8 11 9 10 14
9240 FEETIE K 6 5 1 3 6 2 4 1 6 4
9250 SRETILHTib 8 9 7 8 8 7 10 11 7 11
9999 FHFERXEH 88 99 91 107 93 96 98 109 109 117
9310 HZHTAR 0 2 6 8 1 4 5 4 5 3
9320 H[ZHATAL 6 4 3 1 2 5 7 4 6 2
9330 E[FZHT/INE 4 2 2 1 4 4 3 3 2 4
9340 EIZHTE 6 8 6 4 2 4 4 7 7 10
9999 RFHRXET 16 16 17 14 9 17 19 18 20 19
9410 RETT & 5 4 5 3 5 6 9 6 6 4
9420 RHETHHE 2 3 1 3 2 5 5 5 0 4
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9450 SRETHER 0 0 0 0 1 1 0 0 0 0
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TEET(KF)a—K ITEET(KF)EL 70k 718 725 73k% 74 75k 76ik% 775 78k 79i%

1250 TEEET 1 0 1 1 1 5 4 3 0 0
1260 fEF R & 0 0 0 1 1 3 0 0 2 1
1270 FEEHT 2 2 3 1 2 3 1 1 0 0
1280 FRA4HET 4 5 3 1 2 2 2 1 2 1
1290 $RHT 1 4 3 2 4 6 1 3 1 5
1300 & ZEHT 0 0 0 5 2 6 2 0 1 4
1310 K/LHET 0 0 1 1 0 2 2 1 1 1
9999 K HMR X ET 99 113 108 122 131 142 107 106 67 76
1510 A& _LHT 9 11 8 13 10 7 14 10 6 11
1520 HEAD T HT 12 14 10 22 18 12 16 10 9 18
1530 #EHNTTHET 4 7 4 5 3 6 8 10 2 5
1540 K{Z=FH] 13 10 16 7 8 11 12 11 3 10
9999 HEHIHR X &t 38 42 38 47 39 36 50 41 20 44
2010 EERHET 2 0 1 4 3 9 5 3 0 0
2020 %= &7EHT 3 5 1 0 3 2 4 4 2 3
2030 B ET 0 0 0 0 2 2 0 1 0 0
2040 LIET—TH 2 3 4 2 5 3 5 5 2 2
2050 JMET=TH 1 5 2 1 6 4 3 4 3 5
2060 Hg i ET 2 0 0 0 1 2 1 0 0 0
2070 FxET—TH 3 4 4 8 5 4 3 2 1 2
2080 FRETZTH 2 3 2 3 3 7 5 4 2 2
2090 T HET 35 37 34 24 50 27 34 30 14 28
2100 dribHT 3 5 0 4 4 8 3 3 0 3
2110 tEHIETET—T B 3 6 5 6 3 9 1 4 2 3
2120 HEHIFRET—T B 5 0 6 8 4 3 6 6 2 3
9999 £ ERXET 61 68 59 60 89 80 70 66 28 51
2510 FAUEHET 33 29 25 31 34 32 40 28 19 25
2520 K EEHT 23 16 20 17 23 23 13 11 12 7
2530 = /INRHET 5 8 5 3 6 6 8 2 4 3
2540 FHiSHT 9 11 15 10 12 11 10 11 5 11
2550 ;HHET 4 3 2 6 1 6 3 0 5 2
2560 = ST 14 15 17 20 22 15 13 22 12 10
2570 K EHT 0 3 4 1 1 6 3 0 0 1
9999 WS X ET 88 85 88 88 99 99 90 74 57 59
3010 KATHT 13 20 18 13 16 27 16 16 9 12
3020 B+ THT 14 16 17 10 19 16 21 22 6 5
3030 L E7HT 9 10 14 12 5 15 19 6 6 9
3040 S LHET 3 4 2 0 0 1 4 3 1 2
3050 TR HET 26 30 30 28 32 41 24 30 12 26
3060 HES THT 4 6 5 11 14 12 8 8 5 5
3070 HER/EAT 8 9 7 10 11 6 7 5 6 14
3080 HHMHT 3 2 5 7 3 10 6 2 3 2
3090 H AT 3 8 1 8 5 6 3 5 3 2
3100 EH I FEHET 7 10 5 6 4 4 2 3 6 5
3110 EJLET 8 6 11 12 9 10 6 8 4 9
9999 /\FIEF X &t 98 121 115 117 118 148 116 108 61 91
3510 2R AT 2 2 4 3 3 4 5 5 0 2
3520 2[R chfT 10 6 1 6 7 8 6 4 9 3
3530 2 H THT 14 20 14 20 11 20 12 12 6 11
3540 ZE R AKHT 6 10 6 11 7 8 6 6 6 0
3550 AEFHT 17 14 15 8 16 17 23 10 10 6
3560 1= FERHT 6 6 6 3 9 5 4 5 4 3
3570 = T FaAT 15 17 9 19 23 23 14 8 14 9
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